C:# Examen des puissances de dix Nom:

Résoudr e chaque probléme. Réponses
1) 7000 =700 2) 0,4004 =4 004
— —_— 1
2.
3) 969,3 = 0,09693 4 1 =10
— — 3
4.
5) 3100000 = 3100 6) 7842 =784 200
— — 5,
6.
7) 2,405 = 0,002405 8 1 =100
— —_ 7.
8.
9 5000 =500 10) 0,568 = 568
— — 9.
10.
11) 801 = 0,801 12) 731 =7 310 000
_— —_ 11.
12
13) 91000 =901 14) 78,96 =7 896
_— —_— 13
14.
15) 8,145 = (0,0008145 16) 6 =60
_ S 15.
16.
17) 9000 =90 18) 38,58 = 3858
_— —_— 17.
18
19) 256,5 = 2,565 20) 633 =63 300
_— —_ 10.
20,
110 [ 95|90 85]80] 75] 70] 65| 60] 55 | 50
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ﬂh Examen des puissances de dix Nom: Clé

Résoudr e chaque probléme. Réponses
1) 7000 =10* =700 2) 0,4004 x10* =4004 10
. N
2 X 104
3 969,3 +~10* =0,09693 4) 1 x10* =10 . 10°
3 -
4 X 101
5 3100000 =10° =3100 6) 784,2 x 10° =784 200 . 10°
5 -
6 X 103
7) 2405 +10° =0,002405 8 1 x10° =100 . 10°
7 -
8 X 102
9 5000 =10 =500 10) 0,568 x 10° =568 . 10"
9 e
10 x 10°
11) 8,01 +10' =0,801 12) 731 x 10* =7 310000 . 10°
11. -
12. X 104
13) 91000 = 10° =91 14) 7896 x 10° =789 . 1A3
13. - 10
14, x 10°
15) 8,145 + 10* =0,0008145 16) 6 x 10" =60 Cand
15, +10
16. x 10°
17) 9000 = 102 =90 18) 38,58 x 10° =3858 A2
17. - 10
18. X 102
19) 2565 + 10° =2,565 20) 633 x 10° =63300 An2
19. - 10
2 x 10°
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